
s a t o r a c i n g . c o m

 1. (L) HEEL GUARD  [HG-8L]
 3. (L) STEP PLATE  [S-GSX105SP-L]
 4. (L) BASE PLATE (BK)  [H-650BP-L]
 6. SHIFT PEDAL (BK)  [SPD-CP016B]
 8. SHIFT ROD 100 (BK)  [SRD-100B] 
 9. SHIFT ARM (BK)  [CA-15] 
10. FOOT PEG  [PEG]
11. FOOT PEG END CAP  [ST-002] 
12. PEDAL TIP (DELRIN)  [ST-001D18]
14. COLLAR 10-8 (BK)
15. PEG COLLAR 12  [PEGCLR-12]
17. SPLIT WASHER M8  [SWS-8]
19. HEX HEAD M6x18mm  [HBT-M618]
20. HEX HEAD M8x40mm  [HBT-M840]
21. FLANGE HEAD M6x20mm  [FGBT-M620]
25. LOW SOCKET HEAD M6x20mm  [LSBT-M620]
27. BUTTON HEAD M6x10mm  [BBT-M610]  x 2
28. BUTTON HEAD M8x15mm  [BBT-M815] 
29. BUTTON HEAD M8x20mm  [BBT-M820]  x 2 
31. BUTTON HEAD M8x40mm  [BBT-M840]  
32. REVERSE STUD M6  [STUD-M6L] 
35. JAM NUT M6  [JNT-6]
36. REVERSE JAM NUT M6  [JNT-6L]  x 2
38. MALE ROD END M6  [RDED-M6]

STOCK HONDA PARTS:
42. SHIFTER SWITCH
43. SPACER
44. NUT
45. FLANGE BOLT

31 [L]-SIDEHONDA CBR650R / CB650R ‘19- 
REAR SETS for Honda quickshifter (original design) 
part# H-65019RSQ

32

29

29

8

35

38

25 12

19
6

14
31

3

28

111015
20

17

1

27

4

9

21

42
45

4344

POSITIONS
1    22.5mm Back       50mm Up
2    32.5mm Back       50mm Up
3    42.5mm Back       50mm Up
4     20mm Back        38mm Up
5     30mm Back        38mm Up
6     40mm Back        38mm Up  

NOTE: All positions are in relation to
the stock foot peg position (0mm).

Choose one of the 3 possible mounting 
positions for the STEP PLATE (#3) and SHIFT 
PEDAL (#6) on the BASE PLATE (#4), then 
apply some threadlocker to the BUTTON HEAD 
M8x40mm bolt (#31) before final tightening.

Left-hand threaded -
Turn Right to loosen

36

36


